New Question Type Samplers — Grade 7 RLA Answer Key

Maximum
It?r.n Item Type .TEKS Number Correct Answer(s)
Position Alignment .
of Points
Part A: option D
. Part B: option A
! Multipart 7.7.D 2 The student must choose Part A, option D to receive
partial credit (1 point).
2 Text Entry 7.2.B 1 flub
Encouraging
3 Multiselect 7.8.C 2 and
Teasing
*A rubric is used to determine the score for a short
constructed response.
Short A correct response could be similar to the following:
4 Constructed 7.7.B 2 Angie’s sensible attitude helps Pete calm down. She
Response reminds him that most of the audience “would never
stand in front of 2,500 people to belt out one of
America’s most difficult songs.”
*A rubric is used to determine the score for an
extended constructed response.
Extended A correct response could involve a student explaining
5 Constructed 7 6.B 5 that Angie and Pete’s relationship develops the theme
that a good friend can help someone see a problem
Response . .
from another point of view. The student would need
to provide thorough evidence to explain how this
theme is developed.
6 Text Entry 7.2.B 1 digest
Part A: option C
. Part B: option D
/ Multipart 7.9-A 2 The student must choose Part A, option C to receive
partial credit (1 point).
Food waste in landfills turns into methane gas, which
can be harmful.
8 Multiselect 7.6.D 2 and
Biofuel programs are gaining popularity around the
world.
*A rubric is used to determine the score for a short
constructed response.
A correct response could be similar to the following:
Short The problem/solution structure reveals the specific
9 Constructed 7.8.Diii 2 actions that Sainsbury’s has taken in response to
Response specific challenges. “The excess amounts of this gas

can have harmful effects. Sainsbury’s management
has developed a program that seeks to solve this gassy
glut.”
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of Points
*A rubric is used to determine the score for an
extended constructed response.
Extended A correct response could involve the student showing
10 Constructed 7118 5 how the author supports the thesis by explaining how
the Sainsbury’s system differs from other methods of
Response .
waste management, as well as how those efficiencies
help produce energy. The student would need to
provide thorough evidence to support this thesis.
*A rubric is used to determine the score for a short
Short constructed response.
11 Constructed 7.10.C A correct response could be similar to the following:
Response Playing a team sport is one way to get this exercise,
but not every kid wants to join a team.
12 Inline Choice 7.10.Bi 1 As if the physical benefits weren’t enough,
13 Inline Choice 7.10.C 1 revealed
*A rubric is used to determine the score for a short
Short constructed response.
14 Constructed 7.10.C 1 A correct response could be similar to the following:
Response Learning to master martial arts takes effort and
dedication, but the benefits are countless.
15 Inline Choice 7.10.Di 1 by astronauts, as well as replicas of
16 Inline Choice 7.10.Div 1 about
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